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Quiz: Finding GCFs of Polynomials

Question l1a of 8 ( 2 Identifying the greatest common factor (GCF) in a polynomial 91016 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:
Correct Answer:
Question:

1

Text Fill In Blank

2

false

3x, x3, 3xMN1, 3*x, x*3, 3*x"N1

What is the greatest common factor of the terms of the polynomial below?

3x4 + 18x

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 3x.

Question 1b of 8 ( 2 Identifying the greatest common factor (GCF) in a polynomial 294955 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:
Correct Answer:
Question:

1

Text Fill In Blank

2

false

4x, x4, 4x"N1, 4*x, x*¥4, 4*x~ 1

What is the greatest common factor of the terms of the polynomial below?

4x* + 16x

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 4x.

Question 1c of 8 ( 2 Identifying the greatest common factor (GCF) in a polynomial 294956 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:
Correct Answer:
Question:

1

Text Fill In Blank

2

false

5x, x5, 5x~1, 5*%x, x*5, 5*x~1

What is the greatest common factor of the terms of the polynomial below?

5x4 + 15x

Attempt| Incorrect Feedback

1st

Correct Feedback




This version|of Total HTML Converter is unregistered.

Global Incorrect Feedback

The correct answer is: 5x.

Question 2a of 8 ( 2 Identifying the greatest common factor (GCF) in a polynomial 91017 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:
Correct Answer:
Question:

1

Text Fill In Blank

2

false

2XN3, 2¥xXN3, XxN3*2

What is the greatest common factor of the terms of the polynomial below?
Use the caret symbol ( ~ ) to write exponents; for example, enter x2 as x"2.

14x5 + 10x3

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 2x3.

Question 2b of 8 ( 2 Identifying the greatest common factor (GCF) in a polynomial 294957 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:
Correct Answer:
Question:

1

Text Fill In Blank

2

false

2XN3, 2¥xXN3, xN3*2

What is the greatest common factor of the terms of the polynomial below?
Use the caret symbol ( ~ ) to write exponents; for example, enter x2 as x"2.

14x5 + 6x3

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 2x3.

Question 2c of 8 ( 2 Identifying the greatest common factor (GCF) in a polynomial 294958 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:
Correct Answer:
Question:

1

Text Fill In Blank

2

false

7XN3, 7*¥xN3, xN3*7

What is the greatest common factor of the terms of the polynomial below?
Use the caret symbol ( ~ ) to write exponents; for example, enter x2 as x"2.

14x5 + 7x3

Attempt| Incorrect Feedback

1st
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Correct Feedback

Global Incorrect Feedback

The correct answer is: 7x3.

Question 3a of 8 ( 3 Using the grouping method to factor one or more GCFs out of a

polynomial 91018 )
Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

6X(XN4+6x+4), (X 4+6x+4)6X, 6X*(XxN4+6Xx+4), (X N4+6Xx+4)*6X,
(6X)(xN4+6x+4), (XN4+6x+4)(6X), (6X)*(XxN4+6x+4), (XN4+6Xx+4)*(6X),
6X(1xN4+6x+4), (1xN4+6x+4)6X, 6x*(1xN4+6x+4), (1xN4+6x+4)*6X,
(6X)(1xN4+6x+4), (1xN4+6x+4)(6x), (6X)*(1xN4+6x+4), (1xN4+6Xx+4)*(6X),
XN L (XNA+6X1N14+4), (XN4+6XN14+4)6xN 1, 6XN1*¥ (XN4+6x1N1+4),
(XN4+6XN14+4)*¥6xN 1, (6XA1)(XN4+6XM1+4), (XN4+6XxM1+4)(6xM 1),
(BXAL)*(XN4+6X1N14+4), (XN4+6XN1+4)*(6xN 1), 6XM1(1xN4+6x7N1+4),
(IXN44+6x7M14+4)6xN 1, 6XN1*(1XN44+6XxM1+4), (1xN4+6xN1+4)*6xN 1,
(6XN1)(1xN44+6X1N14+4), (IxN44+6XN1+4)(6xXA 1), (6XAL)*¥(1xN4+6x1N144),
(IXN4+6xN1+4)*(6x11)

Use the grouping method to factor the polynomial in the box completely. Use
the caret symbol ( ~ ) to write exponents; for example, enter x2 as x~2. Write
each factor as a polynomial in descending order.

6x° + 36x2 + 24x

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 6x(x* + 6x + 4).

Question 3b of 8 ( 3 Using the grouping method to factor one or more GCFs out of a

polynomial 294959 )
Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

7X(XN44+7x+4), (XN4+7x+4)7X, 7X*(XN4+7x+4), (XN4+7x+4)*7X,
(7X)(XN4+7x+4), (XN4+7x+4)(7X), (7X)*(XN4+7x+4), (XN4+7x+4)*(7X),
7X(1xN447x+4), (1xN4+7x+4)7x, 7x*¥(1xN4+7x+4), (1xN4+7x+4)*7X,
(7X)(1xN4+7x4+4), (IxN4+7x+4)(7X), (7X)*(1xN4+7x+4), (1xN4+7x+4)*(7x),
7XNL(XNG4+T7XN14+4), (XNE+T7XANL+4)7XN L, 7XA1*X (X N4+7xN1+4),
(XNA+TXANL1+4)*¥TXAL, (TXAL)(XNE+T7XAN144), (XN4+7xM1+4)(7xM 1),
(7XANLY*¥(XNE+T7XN14+4), (XN+T7XAL+4)*(7xA]), 7xXN1(1xN4+7x7N144),
(IXN4+7XN14+4)7XN L, 7XALX(IXANE+T7xM14+4), (IXNG+7XANL+4)*T7xA ],
(7XNL)(IXNE4+7xN144), (IXNE4+T7XANL4+4) (7N ), (7XA D)X (IxN4+7x1N144),
(IXN4+7XN1+4)*(7x1 1)

Use the grouping method to factor the polynomial in the box completely. Use
the caret symbol ( ~ ) to write exponents; for example, enter x2 as x/2. Write
each factor as a polynomial in descending order.

7x5 + 49x2 + 28x

Attempt| Incorrect Feedback

1st

Correct Feedback
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Global Incorrect Feedback

The correct answer is: 7x(x* + 7x + 4).

Question 3cof 8 ( 3 Using the grouping method to factor one or more GCFs out of a

polynomial 294960 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

S5x(XN4+7x+4), (XN4+7x+4)5x, 5x*(xN4+7x+4), (Xx4+7x+4)*5x,
(5X)(xN4+7x+4), (xN4+7x+4)(5x), (5x)*(xN4+7x+4), (xN4+7x+4)*(5x%),
5x(1xMN4+7x+4), (1x"N4+7x+4)5x, 5x*(1x"N4+7x+4), (1xN4+7x+4)*5X,
(5X)(1xN4+7x+4), (1xN4+7x+4)(5%), (5X)*(1xN4+7x+4), (1xN4+7x+4)*(5x),
S5xAN1(xN44+7xM144), (XN4+7xN144)5xN 1, 5xAN ¥ (xN44+7x1N14-4),
(XN44+7xMN1+4)*5xM 1, (5XM D) (XN4+7xMN1+4), (xN4+7x7M1+4)(5xMN ),
(5XM1)*(XN4+7x1N1+44), (XN4+7XN1+4)*(5xM 1), SXAM1(1xN4+7xN1+4),
(IXN44+7xM144)5xN 1, 5XA1L*(IXxNE4+7xN1+4), (IxN4+7xN144)*¥5xM 1,
(5xN1)(1xN447x7N144), (IxN+7xN1+4)(5xM 1), (5xA1)*(IxN4+7xM144),
(IxN4+7x71+4)*(5x~1)

Use the grouping method to factor the polynomial in the box completely. Use
the caret symbol ( ~ ) to write exponents; for example, enter x2 as x/2. Write
each factor as a polynomial in descending order.

5x5 + 35x2 + 20x

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 5x(x* + 7x + 4).

Question 4a of 8 ( 3 Using the grouping method to factor one or more GCFs out of a

polynomial 91019 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

3X(XN3+4x1N249), (XA34+4XN2+9)3X, 3Ix¥(XA3+4XN2+9), (XN3+4xN2+4+9)*3X,
(BX)(XN34+4x1N249), (XN34+4x1N249)(3X), (3X)*(XN3+4x1N249),

(XN 34+4x1N249)*(3x), 3X(IXN3+4x1N249), (1xN34+4x7N2+49)3x,
3x*¥(IXA3+4x1N249), (IxA3+4x1N2+9)*3X, (3X)(1xNA3+4x72+9),
(IxN344x7N249)(3x), (BX)*(1xA3+4x7N249), (1xN34+4xM249)*(3x),
3XNL(XA3+4XN249), (XA3+4XN249)3xN 1, XA 1I*X(XNA3+4x7N2+9),
(XN3+4x1N2+9)*3xN 1, (BXNM1)(XA3+4xM249), (XN3+4x7M24+9)(3xMN 1),
(BXM1)*(XA3+4X1N249), (XA3+4XA2+9)*(3xA 1), 3XN1(IXA3+4xN2+9),
(IXN344x1N249)3xN 1, IXAL*(IXA3+4XxN249), (IxNA3+4xN249)*3xN 1,
(BxN1)(1xA344x1249), (IXA3+4xN2+9)(3xM 1), (BXM1L)*(IxA3+4x1249),
(IXN3+4xN24+9)*(3xM1)

Use the grouping method to factor the polynomial in the box completely. Use
the caret symbol ( ~ ) to write exponents; for example, enter x2 as x/2. Write
each factor as a polynomial in descending order.

3x4 4+ 12x3 + 27x

Attempt| Incorrect Feedback

1st

Correct Feedback
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Global Incorrect Feedback

The correct answer is: 3x(x3 + 4x2 + 9).

Question 4b of 8 ( 3 Using the grouping method to factor one or more GCFs out of a

polynomial 294961 )
Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

S5X(XN3+4x7"24+9), (XNA3+4XxN2+9)5%, S5x*(XN3+4xN2+9), (XN3+4xN2+9)*5x,
(5X)(XN3+4x1"249), (XN3+4x1N2+49)(5%), (5X)*(XN3+4x12+9),
(XA3+4x72+9)*(5x), 5x(1XN3+4x1~249), (1xA3+4x7N2+9)5X,
S5x*(1xA34+4x7"249), (1XA3+4xN2+4+9)*5x, (5x)(1XxN3+4x1"2+9),
(IxN344x7249)(5x), (5X)*(1xN3+4x7N2+49), (1xN34+4xN249)*(5x),
SXNM1(XA34+4xM249), (XA3+4xN2+49)5xM 1, 5XAN1*¥(xN3+4x1N2+9),
(XA3+4x1N2+49)*¥5x M1, (5XAL)(XA3+4XN2+9), (XA3+4x7~2+49)(5xM 1),
(5XAL)* (XA 3+4XN249), (XA3+4XxN2+9)*(5xN 1), 5xM1(IxA3+4x7249),
(IXA34+4x7N249)5xN 1, 5XNML*¥(1xA34+4x7N249), (IXN3+4XxN2+9)*5xM 1,
(5xM1)(1xA34+4x7249), (IxA3+4x7N2+9)(5xM 1), (5xM1)*(IxA3+4x7249),
(IXN3+4x72+9)*(5x~1)

Use the grouping method to factor the polynomial in the box completely. Use
the caret symbol ( ~ ) to write exponents; for example, enter x2 as x~2. Write
each factor as a polynomial in descending order.

5x% + 20x3 + 45x

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 5x(x3 + 4x2 + 9).

Question 4c of 8 ( 3 Using the grouping method to factor one or more GCFs out of a

polynomial 294962 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

2X(XN3+4XN249), (XA3+4XN2+9)2X, 2X*¥(XN3+4XN2+9), (XN 3+4xN2+9)*2X,
(2X)(XN34+4xN249), (XN 3+4XN2+9)(2x), (2X)* (XN 3+4xN2+9),
(XA3+4x1A2+49)*(2x), 2X(1XN3+4x1N249), (1XA3+4x7N2+9)2X,
2X*¥(IXN34+4x1N249), (IxXA34+4xN249)*2X, (2X)(1xN3+4xN249),
(IxN344x1M249)(2x), (2X)*(1xN3+4x7N249), (IxN34+4xN249)*(2x),
2XANL(XA3+4XxN249), (XA3+4XN2+49)2xN 1, 2XAN ¥ (XN 3+4x1N2+9),
(XA3+4x1N2+49)*2x N1, (2XAL)(XA3+4XN249), (XA3+4x7N2+49)(2xN 1),
(2XN1)*¥ (XA 344X 249), (XA3+H4AXN249)*(2xN 1), 2XN1(1XA3+4xN2+9),
(IXN34+4XN249)2xN 1, 2XAN ¥ (IXA34+4XN249), (1xA3+4x1N249)*2x N 1,
(2xN1)(IxA34+4x1249), (IXA3+4xN2+9)(2xA 1), (2xM1)*(IxA3+4xM249),
(IXN3+4xN2+9)*(2xN 1)

Use the grouping method to factor the polynomial in the box completely. Use
the caret symbol ( ~ ) to write exponents; for example, enter x2 as x~2. Write
each factor as a polynomial in descending order.

2x% + 8x3 + 18x

Attempt| Incorrect Feedback

1st

Correct Feedback




This version|of Total HTML Converter is unregistered.

Global Incorrect Feedback

The correct answer is: 2x(x3 + 4x2 + 9).

Question 5a of 8 ( 3 Using the grouping method to factor one or more GCFs out of a

polynomial 91020 )
Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

AXNE(XN3+8X+6), (XN3+8x+6)4x1N4, AXN4* (XN 3+8X+6), (XN3+8Xx+6)*4xN4,
(4x"N4) (XN 34+8x+6), (XN3+8x+6)(4xN4), (4xN4)*(xN3+8x+6),
(X"3+48x+6)*(4xN4), 4xN4(1xN3+8%x+6), (1XxN3+8x+6)4x"4,
AXNA*(1XN34+8x+6), (IXN3+8x+6)*4xN4, (4xN4)(1xN3+8x+6),
(1x"348x+6)(4xN4), (4xN4)*(1xN348x+6), (1xN348x+6)*(4x"N4),
AXNE(XN34+8XN1+6), (XN3+8xN14+6)4xN4, 4xN4* (XN 3+8xN1+6),
(XA3+8xM1+6)*4x N4, (4XN)(XN3+8XN1+6), (XN3+8xM1+6)(4x7N4),
(AXN)Y* (XN 3+8XxN1+6), (XA3+8XN1+6)*(4x1N4), 4xN4(1xNA3+8x7N1+6),
(I1XN34+8xN1+46)4xN4, 4xN4*(1xN34+8xN1+6), (1XN3+8xN1+6)*4xN4,
(4xN4)(1xN348x1M1+46), (1XxA3+8xN1+6)(4xN4), (4xN4)*(1xN3+8xM1+6),
(1X"3+8xM1+6)*(4x™4)

Use the grouping method to factor the polynomial in the box completely. Use
the caret symbol ( ~ ) to write exponents; for example, enter x2 as x~2. Write
each factor as a polynomial in descending order.

4x7 + 32x5 + 24x*

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 4x4(x3 + 8x + 6).

Question 5b of 8 ( 3 Using the grouping method to factor one or more GCFs out of a

polynomial 294963 )
Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

5xN4(xN34+8x+6), (XN3+8x+6)5x"N4, 5xN4* (XN 3+8x+6), (XN3+8x+6)*5xN4,
(5xM4)(xN3+8x+6), (X"3+8x+6)(5x7N4), (5xN4)*(xN3+8x+6),
(X"3+8x+6)*(5x™4), 5xM4(1x"3+8%x+6), (1xA3+8x+6)5x"4,
S5xN4*(1xN3+8x+6), (1xA3+8x+6)*5x"4, (5x74)(1x"3+8%x+6),
(1x"348x+6)(5x74), (5xN4)*(1xN348x+6), (1xN348x+6)*(5x"N4),
5XxN4(xNA34+8xM146), (XA3+8xM1+6)5xN4, 5xN4*(xN3+8xN1+6),
(X"34+8xM1+6)*5xM4, (5xM)(XN3+8xM1+6), (XxA3+8x~1+6)(5x7N4),
(5xNM4)* (XN 3+8x1M1+6), (XA3+8xN1+6)*(5x7N4), 5xM4(1xA3+8x7N1+6),
(IX"348xM146)5xMN4, 5xNA*(IxN348xM1+6), (1xN3+8xN1+46)*5xN4,
(5xM4)(1xN348xM1+46), (1xA3+8xM1+6)(5xM4), (5xM4)*(1xN3+8xM1+6),
(IX"3+8xM1+6)*(5x™N4)

Use the grouping method to factor the polynomial in the box completely. Use
the caret symbol ( ~ ) to write exponents; for example, enter x2 as x~2. Write
each factor as a polynomial in descending order.

5x7 + 40x5 + 30x*

Attempt| Incorrect Feedback

1st

Correct Feedback




This version|of Total HTML Converter is unregistered.

Global Incorrect Feedback

The correct answer is: 5x*(x3 + 8x + 6).

Question 5c of 8 ( 3 Using the grouping method to factor one or more GCFs out of a

polynomial 294964 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

XN (XN 3+8Xx+6), (XN3+8x+6)6xN4, 6XN4*¥ (XN 3+8x+6), (XN3+8x+6)*6x"N4,
(6XN4) (XN 3+8x+6), (XN3+8x+6)(6xN4), (6xN4)*(XxN34+8%x+6),
(X"34+8x+6)*(6x7N4), 6XxMN(1xN3+8%x+6), (1xN3+8x+6)6x"N4,
6XN4*¥(1XN3+8%x+6), (1x"3+8x+6)*6x"4, (6x7N4)(1xN3+8x+6),
(1x"348x+6)(6x74), (6XxN4)*(1xN348x+6), (1xN34+8x+6)*(6x1N4),
6XN4(XN34+8XN1+6), (XN3+8XN14+6)6xMN4, 6XN4* (XN3+8xN1+6),
(XN3+8x1M1+6)*6x7N4, (6XM)(XNA3+8XxN1+46), (XN3+8xM1+6)(6x7N4),
(6XN4)*¥ (XN 348x1N146), (XA3+8XN1+6)*(6x7N4), 6XN4(1XN3+8xN1+6),
(IX"348xM14+6)6xN4, 6XNA*(1XxN34+8xN1+6), (1xN3+8xN1+4+6)*6x1N4,
(6XN4)(1XA348xMN146), (1xN34+8xN1+6)(6x7N4), (6xN4)*(1xN3+8x"N1+6),
(IxXA34+8xM1+6)*(6x14)

Use the grouping method to factor the polynomial in the box completely. Use
the caret symbol ( ~ ) to write exponents; for example, enter x2 as x~2. Write
each factor as a polynomial in descending order.

6x7 + 48x5 + 36x4

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 6x4(x3 + 8x + 6).

Question 6a of 8 (3 Using the grouping method to factor one or more GCFs out of a

polynomial 91021 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank

2

false

2XN4(3XN5+47x+5), (3XN54+7x+45)2xN4, 2xN4*(3xN5+7x+5),
(BxN5+7x4+5)*2xM4, (2xN4)(3xN54+7x+5), (3xN5+7x+5)(2xN4),
(2xN4)*(3xN54+7x+5), (3XA5+7x+5)*(2x74), 2XxN4(3XxN5+7x~N1+5),
(BXN54+7xN145)2xN4, 2XN4*(3xA5+7xM1+5), (BXNA5+7xN1+5)*2xN4,
(2XN4)(BXN5+7xN145), (3XA5+7xN145)(2xN4), (2xN4)*(3xAN5+7x7N145),
(BXN5+7xN1+5)*(2xN4)

Use the grouping method to factor the polynomial in the box completely. Use

the caret symbol ( ~ ) to write exponents; for example, enter x2 as x/2. Write
each factor as a polynomial in descending order.

6x9 + 14x5 + 10x4

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 2x%(3x> + 7x + 5).




This version of Total HTML Converter is unregistered.

Question 6b of 8 ( 3 Using the grouping method to factor one or more GCFs out of a

polynomial 294965 )
Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

3XN4(3xN5+7x+5), (BxN5+4+7x+5)3xN4, 3xN4*¥(3xN5+7%x+5),
(3xN5+7x+5)*3xM4, (3x74)(3XxN5+7%x+5), (3XxN5+7x+5)(3x"4),
(BxN4)*(3xN54+7x+5), (3XN5+7x+5)*(3x74), 3XxN4(3XN5+7xN1+5),
(BXN54+7xMN145)3xMN4, 3XxN4*¥(3xA5+7xM1+5), (BXN5+7xN1+5)*3xN4,
(BXN4)(BXN5+7xN145), (3xNA54+7xN145)(3xN4), (3XxN4)*¥(3xN5+7x7N145),
(3XN5+7xM14+5)*(3x7N4)

Use the grouping method to factor the polynomial in the box completely. Use
the caret symbol ( ~ ) to write exponents; for example, enter x2 as x/2. Write
each factor as a polynomial in descending order.

9x9 + 21x5 + 15x4

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 3x*(3x> + 7x + 5).

Question 6¢c of 8 ( 3 Using the grouping method to factor one or more GCFs out of a

polynomial 294966 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

AXNA(AXA5+TX+5), (4XA5+7X+5)4XA 4, 4xNA*(4XA5+7X+5),
(AXA5+7X+5)*¥AXA4, (4XA4)(AXAB+TX+5), (4XA5+7x+5)(4x74),
(AXAA)*(AXAB+T7X+5), (AXA5+7X+5)*(4X"4), 4Xx N4(4XA5+7XA1+5),
(AXA5+7XA1+5)4xN4, AXNAX(AXA5+7XA1+5), (AXA5+7XA1+5)*4xA4,
(4X ") (4XAB+T7XAL1+5), (AXA5+7XA1+5)(4XA4), (AXA4)*(4XA5+7XA1+5),
(4X" 547X 1+5)*(4x~4)

Use the grouping method to factor the polynomial in the box completely. Use
the caret symbol ( ~ ) to write exponents; for example, enter x2 as x~2. Write
each factor as a polynomial in descending order.

16x° + 28x> + 20x4

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 4x%(4x> + 7x + 5).




This version of Total HTML Converter is unregistered.

Question 7a of 8 ( 3 Using the grouping method to factor one or more GCFs out of a

polynomial 91022 )
Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

(XN 244)(x+2), (X+2)(x"N244), (X+2)*(xN2+4), (X 2+4)*(x+2),
(1x+2)(1xN24+4), (1xM2+4)(1x+2), (1x+2)*¥(1x"2+4), (1xN2+4)*(1x+2),

(XN L42) (XN 244), (XN 244) (XN 142), (XN 1+2)*(xN2+4), (XN 2+4)*(xN1+2),
(IxN142)(1xN2+4), (1xN244)(1xN142), (IXAN1+2)*(1xN2+4),
(1xN2+4)*(1x~N1+2)

Use the grouping method to factor the polynomial below completely. Use the
caret symbol ( ~ ) to write exponents; for example, enter x2 as x~2. Write
each factor as a polynomial in descending order.

x3 +2x2 +4x+ 8

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x2 + 4)(x + 2).

Question 7b of 8 ( 3 Using the grouping method to factor one or more GCFs out of a

polynomial 294967 )
Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

(XN 243)(x+2), (X+2)(x"243), (X+2)*(x"2+43), (X 2+3)*(x+2),
(Ix+2)(1xN2+3), (1xN24+3)(1x+2), (Ix+2)*(1xN2+3), (1xN2+43)*(1x+2),
(XN14+2)(XN243), (XN2+3)(XN142), (XN 1+2)¥(xN2+3), (XN2+3)*(xN1+2),
(IxN142)(1xN2+3), (IxN243)(1xN142), (IxML+2)*(1xN2+3),
(IxN243)*(1xM142)

Use the grouping method to factor the polynomial below completely. Use the
caret symbol ( ~ ) to write exponents; for example, enter x2 as x~2. Write
each factor as a polynomial in descending order.

x3 +2x2 +3x+6

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x2 + 3)(x + 2).




This version of Total HTML Converter is unregistered.

Question 7c of 8 ( 3 Using the grouping method to factor one or more GCFs out of a

polynomial 294968 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

(XN 245)(x+2), (Xx+2)(x"245), (X+2)*(xN2+5), (X 2+5)*(x+2),
(1x+2)(1x~245), (1xA2+5)(1x+2), (1x+2)*(1x"2+5), (1xN2+45)*(1x+2),

(XN 14+2)(XN245), (XN 245)(xNM142), (XN 1+2)*(xAN2+5), (XxN245)*(x~N1+2),
(IXNM+2)(1xN245), (IxN24+5)(1xM14+2), (1xN14+2)*(1xN2+5),
(IxN245)*(1xN142)

Use the grouping method to factor the polynomial below completely. Use the
caret symbol ( ~ ) to write exponents; for example, enter x2 as x~2. Write
each factor as a polynomial in descending order.

x3 +2x2 + 5x + 10

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x2 + 5)(x + 2).

Question 8a of 8 ( 3 Using the grouping method to factor one or more GCFs out of a

polynomial 91023 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

(2xN247)(x+8), (x+8)(2x"N2+7), (x+8)*(2xN2+47), (2x"N2+7)*(x+8),
(1x+8)(2xN2+7), (2xN2+7)(1x+8), (1x+8)*(2xN2+7), (2xN2+7)*(1x+8),
(XN148)(2x1N2+47), (2XN2+7)(XN148), (XN 1+8)*(2x1N247), (2xN2+7)*(x~N1+8),
(IxN148)(2xN2+7), (2x1N2+7)(1xN148), (1xN1+8)*(2xN2+47),
(2x"N24+7)*(1x~148)

Use the grouping method to factor the polynomial below completely. Use the
caret symbol ( ~ ) to write exponents; for example, enter x2 as x~2. Write
each factor as a polynomial in descending order.

2x3 + 16x%2 + 7x + 56

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (2x2 + 7)(x + 8).




This version of Total HTML Converter is unregistered.

Question 8b of 8 ( 3 Using the grouping method to factor one or more GCFs out of a

polynomial 294969 )
Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

(2x"2+7)(x+6), (X+6)(2x"N247), (X+6)*(2xN2+47), (2XxN2+7)*(x+6),
(1x+6)(2xN247), (2x"2+7)(1x+6), (1Xx+6)*(2x"2+7), (2xN2+7)*(1x+6),
(XAN1+6)(2xXN247), (XN 2+7)(XN146), (XN 1+6)*(2xN247), (2XN2+7)*(xN146),
(IXNML+6)(2XN2+7), (2xN24+7)(1xN146), (1xN1+6)*(2x1N2+7),
(2x"N24+7)*(1x~146)

Use the grouping method to factor the polynomial below completely. Use the
caret symbol ( ~ ) to write exponents; for example, enter x2 as x~2. Write
each factor as a polynomial in descending order.

2x3 4+ 12x%2 + 7x + 42

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (2x2 + 7)(x + 6).

Question 8cof 8 ( 3 Using the grouping method to factor one or more GCFs out of a

polynomial 294970 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

(2xN245)(x+6), (x+6)(2x"2+5), (x+6)*(2xN2+45), (2xN2+5)*(x+6),
(1x+6)(2x"N2+5), (2x~24+5)(1x+6), (1x+6)*(2x~2+5), (2x~2+5)*(1x+6),
(XN146)(2x"N2+45), (2XN2+5)(xN1+6), (XN1+6)*¥(2xN245), (2xN2+45)*(xN1+6),
(1xN146)(2xN2+5), (2xN2+5)(1xN1+6), (1xN1+6)*(2xN2+5),
(2xN24+5)*(1x~146)

Use the grouping method to factor the polynomial below completely. Use the
caret symbol ( ~ ) to write exponents; for example, enter x2 as x~2. Write
each factor as a polynomial in descending order.

2x3 + 12x%2 + 5x + 30

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (2x2 + 5)(x + 6).




